ROLLER SHUTTER
MOTOR SELECTION CHART

SLAT SIZE: womm, THICKNESS: 8mm e I IEK THE S CHAKT

: _ - Select the torque rating according to the total height and weight
rt is a guide only. of the curtain (a safety factor has already been taken into
account) and match the motor to the tube.

1iardware manufacturer for more details.
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Calculate the total weight of the curtain
weight = width x (height + 20cm) x (slat weight per m?)
Average weight of yomm Foam filled Aluminium slats: 4.skg/m?




ROLLER SHUTTER
MOTOR SELECTION CHART

SLAT SIZE: 55mm, THICKNESS: 1mm ,m;{gg;gggﬁggﬁggggyﬂﬂm

- ) _ ; . + Select the torgue rating according to the total height and weight
he following chart is a guide only. of the curtain (a safety factor has already been taken into
account) and match the motor to the tube.

Refer to the hardware manufacturer for more details.
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Calculate the total weight of the curtain
weight = width x (height + 20cm) x (slat weight per m?3)
Average weight of 55mm Aluminium slats: ckg/m?



